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AND w9 xnaIT

entity AND_GATE is

port(A,B :in BIT;
f: out BIT); and_gate
end AND_GATE;
a —
architecture TWO_INPUTS of AND_GATE is f
. Y=ab >
begin
b N
f<=A and B;

end TWO_INPUTS;
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D" Invn
BIT aion n1nwn

L INNY WY ' wa a nnwna ki ooy IR0 v 'onin nainwn
BIT_VECTOR alon ninvn
120 [Iy'M2a DA ,NRMIPI N7 [N BIT 2100 DINWN 7 n Th wn

Data :in bit_vector (7 downto 0) NTANYT? XNAlT

nio 8 71 Q0PI YTAIN KNAITA

Data(7) | Data(6) | Data(5) | Data(4) | Data(3) | Data(2) | Data(1) | Data(0)

LSB

NNUNY7 NIRNAIT

Y<="11000011"; -- "MIN1'2] Nnwn

Y<=x"C3"; - 0T NopNa Nnwn

Y<=(others =>'0"); -- nraron 0% 0 naxn

Y<=('1",'2",0THERS=>'0"); -- a17 0 "xwn 721 7,6 nIa'o7 11 naxn

Y<=(A, B,OTHERS=>'0'); -- 0wn 716 na'o? B 7w v, 7 naro7 A 7w 1w navn
Y(5 downto 2)<="1011";  -- 27Ty 5 nIa'o7 7Y wn Naxn

Y(2)<="1"; -- 7272 2 n1a'07 1 naxn

Y<=A xor B; - Y 1> 7T1a1 210 INIXN DN A,B, n'al7 n1ye

INTEGER 2a10n nanwn
2147483647 Ty -2147483648 :nnva 1y 72177 2aio0ni niraro 32 Ty 7TIaa
NINYNN NTANYT NIRNAIT

Data_1 :ininteger range 12 downto 0; -- 4bit
Data_2 : ininteger range 0 to 255; -- 8bit
MINwNN 'aa7 0'7'»
DY IN WA X701 e
N7 X721 N'ONNNIX NI7WS7 win'y e
DINNN '97 NI'A'0 190N NXPN NDINN -
INTEGER 2100 nanwn'7 nnwin

Y<=25; - 1NYY Y Nnwn
Y<=A+B; -- Y Ind 210 ININN D'INWN A,B , Nn'UNN"IX N71V9
Y<=Y+1; -- 1-a 0Ty
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STD_LOGIC - 0'>32Y NN NnInYn
STD_LOGIC_1164 — 090N NNN 1TAIN NINWN
N'DINN N7'NNA NNNXNN
library IEEE;
use IEEE.STD_LOGIC_1164.all;
0717 0axn 9 ¥ AT aI0n NINwnNY
a7 "1t A
a7 ‘0" .2
("M7mnxaovnzZ) nnmandy -2 .3
(N72m mixa oW1 X ) YT NIYAINNN DRXIND 72pnn7 7200, vt X7 =X 4
NINWN? N7 W NN7 "wor DON'TCARE —'-' .5
(N7rm nixa owN U ) nnwn ¥y 197 mnwn 7w 1w 7nnikn X7 1w - 'V .6
70 -5 Tamn Qo7 angn Ny, win a0 - LY 7
217 1 -2 Tamn Qo7 angn 1w, wn 7'l — 'H .8

(Uon'X') vonyimx? — 'W 9

DIvInN 9IX
STD_LOGIC nmwin BIT nij7na - BIT 72U 0TAn e
XnaIT
port( DO,D1:in STD_LOGIC;

S:in STD_LOGIC;
Y : out STD_LOGIC);

. 727 BIT_VECTOR nniTa oyl STD_LOGIC 3lon D'V 7w wnn 201N NIopl e
INNAIT
a:in STD_LOGIC_VECTOR (7 DOWNTO 0);

b:in STD_LOGIC_VECTOR (0 to 7);
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D"MIVADIX
IILVIOIX 7100
= equivalence — nw
/= non-equivalence - My
< less than -n |u?
<= less than or equal -nlw IX O
> greater than - 7172
>= greater than or equal - nHY IX 71T
+ Addition -012'n
- subtraction -110'N
* multiplication - 79>
/ division - p17'n
| IN
& concatenation - MWW
and or nand D217 DNIVIDIX
nor Xor xnor
not

NIXD DT IN A7V — NINA [T

IV N2y DXn
if clk'EVENT AND clk ='1"

[wvw nuhy? INna

wait until clk'EVENT AND clk ='1";
[IV& DT DXD

if clk'EVENT AND clk ='0

WY N7 NN

wait until clk'EVENT AND clk ='0";

: DA wnnwa? N1 std_logic nINIX Dy DTy YUK
'"1'"-%'0"-n pyw N7y XN - if rising_edge(CLK)
'0' -7 "1" -n lvw N DXN - if falling_edge(CLK)

(,»,X,Z Daxn TV w'w nn%? 1-1 0 n'wn g1 p121)
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nYY TNX component -0'2IN 0'71TIN NIA'N

FA — X'm nbon [12O7N — XNAIT

entity f a isl . . U1 U4
port( A,B,Cin: in bit; netd
Cout,S: out bit); AR e e [ ©Cout
end f a; Ciig s net3 *A;
U2and2
architecture f a of f a is or3
—r]A0 Y
---- Component declarations o
component and 2 and2
port ( AO,Al : in bit;
Y : out bit); Hro v
end component; ras
and2
component or 3
port ( AO,Al,A2 : in bit;
Y : out bit ); us
end component; U6 | Hao v DS
A0 Y net4 A1
component xor 2 ra —
port ( AO,Al : in bit; o~
Y : out bit);

end component;

---- Signal declarations used on the diagram —----
signal netl,net2,net3,netd : bit;

begin

-—-—— Component instantiations ----

Ul : and 2
port map( A0 => A, Al => B, Y => netl );

U2 : and 2
port map( A0 => A, Al => Cin, Y => net2 );

U3 : and 2
port map( A0 => B, Al => Cin, Y => net3 );

U4 : or 3
port map( A0 => netl, Al => net2, A2 => net3, Y => Cout );

U5 : xor 2
port map( A0 => A, Al => netd4, Y => S );

U6 : xor 2
port map( A0 => B, Al => Cin, Y => net4d );

end f a;

1N I'N Y VHDL



NITIFS

when .... else NTIPS

var <= value_1 when condition_1 else
value_2 when condition_2 else
value_3 when condition_3 else

value_n;

MUX 2 = 121 XnalT

entity MUX_2_TO_1 is
port( DO,D1,S:inBIT;
Y : out BIT );
end MUX_2 TO 1;

architecture arc_Mux of MUX 2 TO 1 is
begin

Y<= D0 when S='0' else D1;
end arc_Mux ;

with .... select nTIEO

with expression select

var <= value_1 when choice_1,
value_2 when choice_2,
value_3 when choice_3,

value_n when others;

MUX 2 => 1 a0 RnalT

entity MUX_2 TO 1is
port(
DO,D1,S :in BIT;
Y : out BIT);
end MUX_2_TO_1;

architecture arc_Mux of MUX_2 TO_1is
begin

with S select

Y<= DO when '0',

D1 when others;

end arc_Mux ;
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PROCESS - '7nnn
nnMv NpPa v Na'Md CwoONN .
LOOP, CASE, IF-ELSE — NITI?92 wnnwn? N1 e

. begin '2%7 PROCESS |'a n"Tam oni VARIABLE DO'N1j730 D''NMD 1TV NNYN] WNANWNY [N e
<= XY1 := "y ny¥xann NINYNI Naxnn

WY DT IR N7V 11 D NININA DWN'R 17710, PROCESS n'tnin ANKY? DWNa- Ny .

2'annn
architecture ........... Of wevreenennn is
begin
my_lable: PROCESS( ninwan ,,,)
variable ... : ........;
begin

if else NTIPO ann

if (CONDITION1) then STATEMENT1 ;
elsif (CONDITIONZ2) then STATEMENT2 ;
else STATEMENT3 ;

end if;
NRAIT
if (S=0 and S=1) then F <= A; -— 1 Da1 0O ni171IW9NN
elsif (S=3 or S=5) then F <= B; —-- 5 15 3 N1 170987
else F <= C;
end if;

case NTIPS Y'ann

case EXPRESSTION is
when CHOICES1 => STATEMENTSI1;
when CHOICES2 => STATEMENTSZ2;
when OTHERS => STATEMENTS3;
end case;

XNAIT

case SELECTOR 1is

when 0 to 2 => -- 0,1,2 ni 17wW9NN
F <= A;

when 3 | 5 => -— 5 15 3 ni1wann
F <= B;

when OTHERS =>
F <= C;

end case;
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